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Thus, by multiplication principle, the required number of possible outcomes is 2 x 2 x 2 = 8 

 

Q6 :   

Given 5 flags of different colours, how many different signals can be generated if each signal requires the 

use of 2 flags, one below the other? 

 

Answer : 

Each signal requires the use of 2 flags. 

There will be as many flags as there are ways of filling in 2 vacant places  in succession by the given 5 flags of 

different colours. 

The upper vacant place can be filled in 5 different ways by any one of the 5 flags following which, the lower vacant 

place can be filled in 4 different ways by any one of the remaining 4 different flags. 

Thus, by multiplication principle, the number of different signals that can be generated is 5 x 4 = 20 

 

Exercise 7.2 : Solutions of Questions on Page Number : 140 

Q1 :   

Evaluate 

(i) 8! (ii) 4! - 3! 

 

Answer : 

(i) 8! = 1 x 2 x 3 x 4 x 5 x 6 x 7 x 8 = 40320 

(ii) 4! = 1 x 2 x 3 x 4 = 24 

3! = 1 x 2 x 3 = 6 

∴4! - 3! = 24 - 6 = 18 

 

Q2 :   

Is 3! + 4! = 7!? 

 

Answer : 

3! = 1 x 2 x 3 = 6 

4! = 1 x 2 x 3 x 4 = 24 

∴3! + 4! = 6 + 24 = 30 

7! = 1 x 2 x 3 x 4 x 5 x 6 x 7 = 5040 

∴ 3! + 4! ≠ 7! 
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Q3 :   

Compute  

 

Answer : 

 

 

Q4 :   

If , find x. 

 

Answer : 

 

 

Q5 :   

Evaluate , when 

(i) n = 6, r = 2 (ii) n = 9, r = 5 

 

Answer : 
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(i) When n = 6, r = 2,  

(ii) When n = 9, r = 5,  

 

 

Exercise 7.3 : Solutions of Questions on Page Number : 148 

Q1 :   

How many 3-digit numbers can be formed by using the digits 1 to 9 if no digit is repeated? 

 

Answer : 

3-digit numbers have to be formed using the digits 1 to 9. 

Here, the order of the digits matters. 

Therefore, there will be as many 3-digit numbers as there are permutations of 9 different digits taken 3 at a time. 

Therefore, required number of 3-digit numbers  

 

 

Q2 :   

How many 4-digit numbers are there with no digit repeated? 

 

Answer : 

The thousands place of the 4-digit number is to be filled with any of the digits from 1 to 9 as the digit 0 cannot be 

included. Therefore, the number of ways in which thousands place can be filled is 9. 

The hundreds, tens, and units place can be filled by any of the digits from 0 to 9. However, the digits cannot be 

repeated in the 4-digit numbers and thousands place is already occupied with a digit. The hundreds, tens, and units 

place is to be filled by the remaining 9 digits. 

Therefore, there will be as many such 3-digit numbers as there are permutations of 9 different digits taken 3 at a time. 

Number of such 3-digit numbers  

 

Thus, by multiplication principle, the required number of 4-digit numbers is 
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